Assistance Report 2nd Quarter 2021

Quarter Funding Total \$ 6,717.55 **To Date Funding Total** \$707,943.13

Area of Operation	1st Quarter	2 nd Quarter	3 rd Quarter	4th Quarter	To Date
Thailand	\$2,067.00	\$0.00	\$0.00	\$0.00	\$2,067.00
Laos	\$0.00	\$6,200.00	\$0.00	\$0.00	\$6,200.00
Student Aid - Thailand	\$1,617.59	\$517.55	\$0.00	\$0.00	\$2,135.14
Quarter Total	\$3,684.59	\$6,717.55	\$0.00	\$0.00	\$10,402.14
Total to Date	\$701,225.58	\$707,943.13	\$0.00	\$0.00	\$707,943.13

Motions and Actions 2^{sd} Quarter 2021

- 21-06 Motion 21-06 Student Assistance Program April
- 21-07 Laos Quality of Life, Phou Houa Sang Primary School
- 21-08 Laos Quality of Life Program, Ban Phou Houa-Sang Lower Secondary School
- 21-09 Thailand Student Assistance May (Not Funded, No School This Month)

No requests from Soundeuane in Laos this quarter. We were able to assist a village in Thailand and are continuing with student assistance in Nakhon Phanom.

Due to border closures, it took a while for the materials for Motions 21-07 & 21-08 to get to the site. The materials are there and the work is underway.



We had 5 graduates in 2021.

Nanthawee Chanapotch, Nittaya Manasen, Nutjira Nilsakha, Chotika Pimsri and Chutatip Siriwongse Congratulations to these students, we wish them a great and promising future.



เรียนท่านสมาชิก TLC8. ที่เคารพฤกท่าน กระผมนายนั้นทรี ขนะพงน์ กระผมและครายครั้ว รู้สึกสิ่ใจและขามชั่งใจเป็นอย่างยิ่งที่ทาง TLC8. ให้ความแผดๆ หยับยั้นเโอกาส ช่วยเหลือและ สนับสนุน ใม่เฉพาะแค่โอกาสในการศึกษาแต่ยัง รวมไปถึงคุณภาพการดำรงชีวิตที่ดีขึ้น จากการที่ใต้รับทุนการศึกษาจาก TLC8. ในส่วนนี้ กระทั่ง ส่งผลไท้กระผมประสบความสำเร็จไปถึกขึ้นหนึ่ง ของบัน ใตชีวิต สุดท้ายนี้ตัวผมคง ไม่มีสิ่งใจที่ จะตอมแนนหหระคุณพุดว TLC8. ใต้ นอกจากคำ ว่าขอบพระคุณทุกท่านที่มีสิ่งในที่ และสัญญาว่าพัฒนาตาแอะและสังคมไห้ตีขึ้นต่อ ไป.......ขอบทระคุณครับ

เขียนด้วย Mi Notes



เรียนสมาชิก TLCB ทุกท่าน ดิฉันนางสาว นิดยา มานะเสน ขอขอบคุณ TLCB ที่ให้ทุนการศึกษา สน่อสนุนการเรียนของดิฉันตั้งแต่ระดับมัธยมศึกษาจนถึงระดับปริญญาตรี ทุนส่วนนี้เป็นประโยชน์อย่างมากสำหรับดิฉันมันเป็นโอกาสที่ให้หนูได้ศึกษาต่อใน ระดับปริญญาตรี ขอบพระคุณเป็นอย่างยิ่งต่ะ

Dear TLCB members, My name is Nittaya Manasen would like to thank TLCB for providing a scholarship. Supporting my studies from high school to bachelor's degree level. This scholarship is very useful for me. It is an opportunity for you to continue your education at the bachelor's degree level. Thank you very much.



Hello, my name is Nutjira Nilsakha or as you know me "Parn". I'm one of Christian Mission's members and I got scholarships from TLCB and Advent Christian Conferences since I was in grade 7 until I got my Bachelor's Degree this year.

I'm writing this letter today just to say that I'm grateful for your kindness and I really appreciate your help. When I started my 7th grade I came to stay at Christian Mission and studied English from Dr. John Middlewood who was the head of CKNN during that time. I got the scholarships from TLCB until finished my 9th grade. This scholarship helped me a lot with my tution fees. So, thank you very much for this.

Thank you also to Advent Christian Conferences in the United States and New Zealand for scholarships from when I was in grade 10 until I finished the Bachelor's Degree, You not only helped me with the tuition fees but also other expenses such as food and electricity while I and the other members were staying at CMM. If I hadn't had your help, I wouldn't be where I am today. Thank you very much for your help.

There's one more thing that I got from staying at CMN; that is to know God and become a Christian. I believe that Jesus is my Savior. I will keep spreading His blessings to other people who don't know about him yet.

Once again, thank you very much for all of these blessings. I'm really grateful

God bless you.



Dear Advent Christians in the United States and New Zealand, and the Thailand Lars Cambadia Brotherhood (TLCR)

My name is Cholika Pimiri <u>but</u> you already know me as Ploy. [Ploy is the name of a kind of diamond in Thai,] I am withing this letter to thank you at who have contributed to my graduation.

I am one of Christian Mission Noral chakwa's members. After I finished grade 6. Dr. John Middewood and Mis-Wipada Kawobudtaa took me to their house to Dr. John Middewood and Mission seed to the control of the contr

I would like to say thank you to TLCB members for helping me from grade 7 to grade 9. Your scholarship helped me and my family greatly. Thank you very

Also, I hank you to the Advent Christian Conferences in the United States and New Zeoland; you played a big part in helping me from the beginning unit mow. I started to get scholarish lip help from ACCG and ACMISION? When I was in grade 10 and until 1 finited the Bochelor's Degree. You were not only giving the scholarish to me but you also helped me with the semester fees and many other things. I greatly appreciate your kindness and generally.

If I hadn't net with Dr. John and all of you. I may never know which way that mylle would have gone because I may not have known God. I became a Christian when I was I k years old and now Im 24 years old and now Im 24 years old or gods. God changed my life He has given and gives many things to me and He gives a lot of poportunities to me. I will give God's love to others and will behave to others as well as I work been given by all of you. I hank you God. Thank you very much to all of you. I ready appreciate everything you have done for me.

God bless you.



ขอขอบคุณ TLCB ที่ให้ทุนการศึกษา สนับสนุนการเรียนของหนู ตั้งแต่ ระดับ ม้ธยมศึกษาจนถึงระดับปริญญาตรี ทุนส่วนนี้ เป็นประโยชน์อย่างมากสำหรับหนู มันเป็น โอกาสที่ให้หนูได้ศึกษาต่อในระดับปริญญา ตรีขอบพระคณเป็นอย่างยิ่งค่ะ

นางสาว จุทาทิพย์ ศิริวงศ์

Thank you TLCB for providing the scholarship. Supporting my studies from high school to bachelor's degree level. This scholarship is very useful for me. It is an opportunity for you to continue your education at the bachelor degree level.

Respectfully submitted, Les Thompson Chairman TLCB Assistance Committee 16 July 2021

Motion details attached below:

Motion 21-06 Student Assistance Program - April Estimated Amount = \$520.00 Actual Amount = \$517.55

For Satawat Sri-in, I make the following motion:

Move that 16,000 baht be approved for our continuing student assistance for April 2021.

College/University Students @ 2,000thb/month

1)	Juthathip Siriwong	4th Year English Teaching
2)	Nantawee Chanapoch	4th Year NPU
3)	Darart Promarrak	3rd Year MCU
4)	Thamonwan Thungnathad	3rd Year NPU
5)	Nittaya Manasen	3rd Year NPU
6)	Matchima Khanda	2nd Year Sakon Nakhon Rajabhat U (Mathmatics Teaching)
7)	Achiraya Thiauthit	1st Year NPU
8)	Sawini Manaonok	1st Year UBU

Total: 16,000thb

Exchange Rate on 24 March 2021 is 31.0 THB per 1 USD

Motion 21-07 Laos Quality of Life, Phou Houa Sang Primary School

Estimated Total: \$4,230.00

Total: \$4,230.00

2021 Budget Remaining: \$16,000 - \$4,230.00 = \$11,770.00



LAO PEOPLE'S DEMOCRATIC REPUBLIC Peace Independence Democracy Unity Prosperity Xiangkhouang Office of Education and Sports March 6, 2021

REQUEST

From: Ban Phou Houa-Sang Primary School, Nonghet District, Xiangkhouang.

To: Honored President of the Thailand-Laos-Cambodia Friendship Association (via appropriate Administrative Offices)

Ref: Request of Villagers and School submitted to the Province Education and Sports Office through Nonghet District Education and Sports Office regarding the condition and problems arising for the school which is old and has been dilapidated condition for many years.

The Province Education and Sports Office in coordination with the Nonghet District Education and Sports Office together submit this request to the President of the TLCB for further help for funding to buy tin roofing sheets, cement, cement blocks for walls, gravel and sand to complete repairs of the school.

The Phou Houa Sang 5-room primary school is of semi-permanent construction funded through the 1992 Nonghet U 552 drug program and built in 1996. The reason the school is in such disrepair is due to a severe windstorm last year resulting in great damage to villagers' homes as well. The school is located to the East off of Route 7 to Vietnam leaving the paved road and on for a further 30 km. altogether about 126 km. from Phonsavan town. The school is near the Phou Houa Sang Secondary school which was built in 2006. This is a very remote area.



The 5-room school building measures 8 x 42 m. including the corridor.

The materials needed for repair are:

- 1. Tin sheets for roofing
- 2. Cement and sand for walls
- 3. Cement blocks for walls
- 4. Nails for roof structure

At this time, the villagers are cutting timber for the roof structure to be built so that the building can be used for classes very soon. The main concern is finding the funds to buy the necessary building materials. The school has been seeking help through various activities but the funds raised have been inadequate for the need.

There are four villages served by this school including one Khamou village, two Lao Soung villages and four Lao Loum villages with a population of 1,072 people. There are two school buildings with one of semipermanent wood construction. The school has eight teachers of whom five are women, and 136 students of whom 63 are girls.

The villagers are subsistence farmers growing up-land rice and gardens and raising livestock.

Thus the school and the villagers are asking the Province to request assistance from the TLCB for funds to buy tin, cement, blocks, sand and nails.

We hope the TLCB can find ways to help in this effort if possible.

The villagers will provide all the labor needed.

With gratitude

School Director	Request compiled by:
	Ajan Soundeuane Simsamay
Ban Phou Houa Sang Headman	Head of Nonghet District Education Office
Mr. Xia Yongya	Mr. Khambou Vannabounma

Bill of Materials

No.	Materials	Qty	Cost/pc.	Total LAK
1	Roofing tin	442 sheets	36,000	15,912,000
2	Roofing nails	90 Packs	8,000	720,000
3	Cement for floors	8 tons	900,000	7,200,000
4	Sand to construct walls	70 m3	50,000	3,500,000
5	Cement blocks for walls	5,000 pcs	2,000	10,000,000
6	Transport	2 trips	1,00,000	2,000,000
7	Nails for roof construction	25 kg.	15,000	375,000
8	Village labor			
Tota	Total Kip/LAK:			







Motion 21-08 Laos Quality of Life Program Ban Phou Houa-Sang Lower Secondary School, Nonghet District, Xiangkhouang, Laos

Estimated Amount = \$1,970.00 Actual Amount = \$1,970.00 2021 Laos Budget Current \$11,770.00 - \$1,970.00 = -\$9,800.00 remaining.

PROPOSED: That the TLCB grant ~\$1,970 to buy roofing sheets and cement for floors at this school.to complete repairs of the dilapidated Ban Phou Houa-Sang Lower Secondary School, Nonghet District, Xiangkhouang Province.

BACKGROUND: The Xiangkhouang Provincial and Nonghet District Education Offices have joined to submit this letter to the President of the Thailand-Laos-Cambodia Friendship Association to request funding assistance to buy roofing sheets and cement for floors at this school.

The Phou Houa-Sang Village Lower Secondary School, built by the villagers themselves. is of semi-permanent construction and has three classrooms. It has a tin roof but still has no cement flooring. Last year the school was severely damaged by a wind storm just as were the homes of a number of villagers there.

The school which was built in 2006, is located on the east side of Route 7 connecting Xiangkhouang and Vietnam. It is some 30 km from the paved road in a distant and remote area; altogether some 126 km. from Phonsavan town.

The 3-room school measures 8 x 23 m. (including the corridor).

Funding is needed for tin sheets for roofing and cement, sand and gravel for floors, and nails needed for roofing and repairs (to siding).

In the past, the school has tried to raise funds to buy the needed materials for school repair but funding was not enough to cover all the different repairs to be done.

The school serves 11 smaller villages. Two of these are Khmu, five are Lao Soung, and four are Lao Loum villages. The total population numbers 4,683 people.

The school has altogether three buildings of which two are of permanent construction and one is of semipermanent construction.

There are 52 teachers of whom 27 are women, and the school has 266 students of whom 128 are girls.

The villagers are mainly subsistence farmers who plant upland rice, have gardens and raise livestock.

Thus, the school and villagers have written this letter to the Provincial Education Office to help to request assistance from the President of the Thailand-Laos-Cambodia Friendship Association to provide funds to buy tin roofing sheets, nails, cement, gravel and sand.

They hope that the President of the Thailand-Laos-Cambodia Friendship Association will be able to find a way to help the village if possible, no matter how long it might take.

The villagers will be responsible for all the labor needed to make the repairs.

With gratitude.

Bill of Materials Requested

No.	Item	Pce.	Cost /pce.	Total
1	Tin sheets	226 sheets	36,000	8,136,000
2	Roofing nails	70 pack	8,000	560,000
3	Cement for floors	4 ton	900,000	3,600,000
4	Sand	40 m3	60,000	2,400,000
5	Gravel (3-4) for floors	40 m3	50,000	2,000,000
6	Transport - tin, cement	1 trip	1,500,000	1,500,000
7	Nails for siding	20 kg.	15,000	300,000
8	Village labor			
	Total Kip/LAK:			18,496,000

RECOMMENDATION: That the ~\$1,970 requested be approved.

Motion 21-09 Student Assistance Program – May (No school this month) Estimated Amount = \$520.00 Actual Amount = \$0.00

For Satawat Sri-in, I make the following motion:

Move that 16,000 baht be approved for our continuing student assistance for May 2021.

College/University Students @ 2,000thb/month

1)	Juthathip Siriwong	4th Year English Teaching
2)	Nantawee Chanapoch	4th Year NPU
3)	Darart Promarrak	3rd Year MCU
4)	Thamonwan Thungnathad	3rd Year NPU
5)	Nittaya Manasen	3rd Year NPU
6)	Matchima Khanda	2nd Year Sakon Nakhon Rajabhat U (Mathmatics Teaching)
7)	Achiraya Thiauthit	1st Year NPU
8)	Sawini Manaonok	1st Year UBU

Total: 16,000thb

Exchange Rate on 23 April 2021 is 31.4 THB per 1 USD